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# include <sys/types.h>
# include <sys/socket.h>
int socket(int domain, int type, int protocol);
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domain: AFE S =21 = X[
type: MH|A RS X8

protocol: H& 02 = X|H



socket() k== (2)

socket() € k= Of[ A

sd = socket(AF_UNIX, SOCK_STREAM, 0);
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sd = socket(AF_UNIX, SOCK_DGRAM, 0);
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sd = socket(AF_INET, SOCK_STREAM, 0);
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sd = socket(AF_INET, SOCK_DGRAM, 0);
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# include <sys/types.h>
# include <sys/socket.h>
int bind(int s, const struct sockaddr *name, socklen_t *namelen);
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int sd;
struct sockaddr_un addr;

sd = socket(AF_UNIX, SOCK_STREAM, 0);

1f(sd == -1) {

perror('socket");

exit(l);
ks
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addr.sun_family = AF_UNIX;
strcpy(addr.sun_path, "/tmp/sock_adﬁ%§§?/'
1if(bind(sd, (struct sockaddr *)&addr, sizeof(addr)) == -1) {

perror("bind");

exit(l);
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AF_INET Of| A|

int sd;
struct sockaddr_in addr;

sd = socket(AF_INET, SOCK_STREAM, 0);

if(sd == -1) {
perror('"socket");
ex1t(l);

}

addr.sin_family = AF_INET;

addr.sin_addr.s _addr = htonl (INADDR ANY) ;
addr.sin_port = htons(5010); A=A
if(bind(sd, (struct sockaddr *)&addr, sizeof(addr)) == -1) {
perror("bind");
ex1t(1l);
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‘HEXA -> 7|8 2 AE’ H3L: ntohl(), ntohs()
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#include <sys/types.h>

#include <netinet/in.h>

#include <inttypes.h>

uint32_t htonl (unint32_t hostlong);
uintle_t htons(uintl6_t hostshort);
uint32_t ntohl(uint32_t netlong);
uintl6e_t ntohs(uintl6_t netshort);
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#include<sys/types.h>
#include<sys/socket.h>
int listen(int s, 1nt backlog);
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int sd;

listen() €<= (2)

listen() k== Ol K|

struct sockaddr_in addr;

sd = socket(AF_INET, SOCK_STREAM, 0);

if(sd == -1)

{

perror('"socket") ;

exit(1l);
}

addr.sin_family = AF_INET;
addr.sin_addr.s_addr = htonl (INADDR_ANY) ;
addr.sin_port = htons(5010);

1f(bind(sd,

(struct sockaddr *)&addr,

perror("bind");

exit(l);
}

if(listen(sd,

5) == -1) {

perror("Tisten");

exit(l);

sizeof(addr)) == -1) {
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#include<sys/types.h>
#include<sys/socket.h>
1nt accept(int s, struct sockaddr *addr, socklen_t *addrlen);
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accept() St

accept() &= Of| X

int sd, new;

struct sockaddr_in addr;
struct sockaddr_in client;
int client_len;

sd = socket (AF_INET, SOCK_STREAM, 0);
addr.sin_family = AF_INET;
addr.sin_addr.s_addr = htonl (INADDR_ANY);
addr.sin_port = htons (5010);

bind (sd, (struct sockaddr *)&addr, sizeof (addr));
listen (sd, 5);

T (2)

while ((new = accept (sd, (struct sockaddr *)&client, &client_len)) 1= -1) {

if (fork() == 0){ /* AFA T2 M| A */
close (sd);
work (new);  /*newS 0| 23| 22}0|HEQ} EAl */
close (new);
exit (0);
}
close (new) /* B0 I ZA|A */
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#include<sys/types.h>
#include<sys/socket.h>
int connect(int s, const struct sockaddr *name, socklen_t namelen);
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connect() St (2)

connect() k== 0| K|

int sd;
struct sockaddr_in addr;

sd = socket(AF_INET, SOCK_STREAM, 0);

if(sd == -1) {
perror('"socket");
exit(l);

hy

addr.sin_family = AF_INET;
addr.sin_addr.s_addr = htonl (inet_addr('211.223.201.30"));
addr.sin_port = htons(5010);

if(connect(sd, (struct sockaddr *)&addr, sizeof(addr)) == -1) {
perror('connect");
ex1t(l);



connect() St (3)

> 1P Z=AO| B H;I
10714 B 7| HhAL AFZEE O] HO|E /3}0] 211.223.201.30 52| WA S
A&

2% 77| YA = 0| A
> inet_addr(): 108l YA S 28I g Al O 2 B3}
> inet_ntoa(): 2%l HAIS

-
> =

#include<sys/types.h>
#include<sys/socket.h>
#include<netinet/in.h>
#include<arpa/inet.h>
unsigned long inet_addr(const char *cp);

char *inet_ntoa(const struct in_addr in);
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#include<sys/types.h>

#include<sys/socket.h>

ssize_t send(int s, const void *msg, size_t len, int flags);

ssize_t sendto(int s, const void *msg, size_t len, int flags,
const struct sockaddr *to, socklen_t tolen);
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send() 2= O X

int sd;

struct sockaddr_in addr;
char *data = "Test Message";
int length = strlen (data) + 1;

sd = socket (AF_INET, SOCK_STREAM, 0);

addr.sin_family = AF_INET;

addr.sin_addr.s_addr = htonl (inet_addr ("211.223.201.30"));
addr.sin_port = htons (5010);

connect (sd, (struct sockaddr *)&addr, sizeof (addr));

if (send (sd, data, length, 0) ==-1) {
perror ("send");
exit (1);

}
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#include<sys/types.h>
#include<sys/socket.h>
#include<sys/uio.h>
ssize_t recv(int s, void *buf, size_t len, int flags);

ssize_t recvfrom(int s, void *buf, size_t len, int flags,
struct sockaddr *from, socklen_t *fromlen);
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recv() 2= Of| A

int sd;

struct sockaddr_in addr;
char data[100];

int length = sizeof(data);

sd = socket(AF_INET, SOCK_STREAM, 0);
if (sd == -1) {

perror("socket');

exit(1l);
¥

addr.sin_family = AF_INET;
addr.sin_addr.s_addr = htonl(inet_addr('"211.223.201.30"));
addr.sin_port = htons(5010);

if (connect(sd, (struct sockaddr *)&addr, sizeof(addr)) == -1) {
perror("connect");
exit(1l);
¥
if (recv(sd, data, length, 0) == -1) {
perror("recv");
exit(1l);
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